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@V flliE TPC tRIEE
YEANGDERTPC #£_EaiwmHER
e . MOSHWKRIKIS L35 110 11 H 18 H (£HM)
Z_Ea Z_Ea
ROUND 2 9 R | +/- ROUND 2 " RL | +/-
ARl | A | BEa HAl | A | HEa
B 2415 78| 6 HIRE 75| 3
1 | 7:00 B 77| 5 11 | 7:00 FxH 80| 8
R EF 74 | 2 FEE 74 | 2
Ex=E 73| 1 EREE 76 | 4
2 | 7:10 = 2 76| 4 12 | 7:10 HERA 72| E
73t i ok 79| 7 =18 72| E
BRJTER 73] 1 BX{ES2 | 74| 2
3 | 7:20 ERE 71| -1 13 | 7:20 M 73] 1
SmEMERR |76 4 B R 69 | -3
R&IE 70 | -2 pradi £ 70| -2
4 |7:30 BER% 77 | 5 14 | 7:30 oK BE 71| -1
B5hi% 79| 7 M8 81| 9
3 FY 71| -1 SEE 72| E
5 740 B3R 74 | 2 15 | 7:40 R4S 4h 74| 2
1 MEBAA |92]20 10 PRE R 79| 7
BR& % 83|11 Eitg 66 | -6
6 | 7:50 AL 77| 5 16 | 7:50 EER 71| -1
* B 73] 1 FELA 70| -2
bR & R 81| 9 ZI8 69 | -3
7 | 8:00 FESE 71| -1 17 | 8:00 FEH= 70| -2
BEEZEA |78] 6 EEEAR 74 | 2
EEE 76 | 4 EZIR 77 | 5
8 |8:10 E{EH 75| 3 18 | 8:10 = B 73| 1
HEBEA [72] E W= 78| 6
BES 79| 7 F&E 78| 6
9 |8:20 EEZE:) 80| 8 19 | 8:20 fE2EE 73| 1
PRESE 75| 3 2F1IRA 74| 2
RENE 69 | -3 MER 76| 4
10 | 8:30 LGS 82|10 || 20 |8:30 BRIAZ= 75| 3
5= 8 76 | 4 i 2 & 71| -1
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AR filiE TPC tRIEE
YEANGDERTPC #£_EaiwmHER
e . MOSHWKRIKIS T35 110 11 H 18 H (£HM)
Z_Ea E_EE
ROUND 2 9 R | +/- ROUND 2 " RL | +/-
ARl | A | BEa HAl | A | HEa
pER 75| 3 FEZ 74| 2
21 [11:00 =5 78| 6 32 [11:00 BEMm 74 | 2
BF= 75| 3 =4 =hvi 79| 7
EttE 75| 3 prad il 78| 6
22 |11:10 FrEEl 77| 5 33 |11:10 = EE 88|16
i 77| 5 = F 77| 5
=i lg 71| -1 BR5 72| E
23 |11:20 MR 1E 72| E 34 |11:20 aF R ET 771 5
=G 70 | -2 oRIZE e 78| 6
w42 80| 8 RS 78| 6
24 |11:30 =EfE 76 | 4 35 [11:30 ZEE 77| 5
{o] 34 5 73| 1 2B 75| 3
SR 79| 7 TES 75| 3
25 |11:40 BHEE 731 1 36 |11:40 SR I 78| 6
¥ B 75| 3 BT 75| 3
= f# 70 | -2 e e 355 77| 5
26 |11:50| 1 pa Syl 76| 4 37 [11:50| 10 HigiE 83|11
2iERHK 72| E B = 76| 4
4 B 72| E BeR ek 73| 1
27 |12:00 B 5 7% 76| 4 38 |12:00 BRI 74| 2
ZINE 79| 7 e iE 82|10
= 75| 3 SRENRR 76 | 4
28 |12:10 Pkt ca 73] 1 39 |12:10 R e & 72| E
EE— 76 | 4 BREMR A | 73
REE 80| 8 it 18 75
29 |[12:20 ] 75 & 81| 9 40 (12:20 .1 82110
BER 73| 1 mATF 73| 1
S 78| 6 =l 75| 3
30 [12:30 TFE 75| 3 41 |12:30 =25 72| E
RIS 1 78| 6 EEBA |72 E
iR 73] 1 BREF 77 | 5
31 [12:40 fREA 78| 6 42 |12:40 BRZSE 74| 2
== 75| 3 TEMA [79] 7




